What is Psychic Income and How Does It Affect Racing and Breeding?
· Psychic income is defined as the enjoyment or (as economists would call it) utility that one gets from taking part in an activity, or purchasing something for the pleasure that it provides.  In contrast, pecuniary or monetary returns are the income in actual cash earned from taking part in an activity.  As examples, investors in stocks and bonds invest almost entirely for the pecuniary returns they expect to generate in the future.  In contrast, a buyer of a gelding to be used solely as a pleasure horse by the buyer, who plans to keep the horse its entire life, is buying solely for the psychic income that riding the horse will provide.  

· Of course there are intermediate examples where both pecuniary and psychic income are generated, and racing and breeding horses are among those examples.  An owner of a racehorse hopes to get some of his investment back from the purses that the horse earns, but many owners get enough psychic income from being involved in the racing game, getting their pictures taken in the winner’s circle, and seeing their names in the Racing Form and the local paper, that they are quite willing to lose money in order to be a “player” in the horse racing game.  How can this be represented in an economic framework?  

The Economics of a Breeding Firm/Farm Represented Diagrammatically

The following diagrams represent the economic conditions for horse breeding, where monopolistic competition is the best (but not a perfect) representation of the industry classification. 

First we represent industry supply and demand, then the revenue and cost curves for a typical firm (which in this case would usually be a farm).
  This diagram assumes that firms do not receive psychic income from their operations.
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In diagram 2 below, we represent one of  many monopolistically competitive firms (often farms in this case).  Recall that in monopolistic competition a firm produces products for which there and many close substitutes, and the firm is faced with a gently downward sloping demand curve, hence conditions would appear something like the following.  The firm’s price P in Diagram 2 is assumed to be equal to the price P from Diagram 1.
Diagram 2
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Diagram 2 represents a firm operating in a market where the overriding goal is to make a profit.  The firm is assumed to have developed a reputation such that its foals are viewed as possessing some advantages, whether perceived or actual, that differentiate them from “generic” foals, thus the firm has the gently downward sloping demand curve characteristic of a monopolistically competitive market. Industry P and Firm price are equal at P, while QF (the equilibrium quantity of foals produced by the firm) is a fraction of QI, the equilibrium quantity produced by the industry.  The firm makes what economists call a “normal” profit, which a finance professor would suggest is equal to the return normally associated with endeavors that have the same risk profile as this firm.
At the equilibrium quantity of output for our representative firm where MC = MR, note that the equilibrium price (P) and the equilibrium quantity (Q) are at a level that allows the firm to break even economically (which is typically defined by economists as operating at a “normal” profit level).  Diagrammatically, we can see that the farm is at break-even because it is operating where the price (average revenue) of its product equals the average cost of the farm’s product.    

Enter Psychic Income 
Diagram 2A
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When the owner of a farm receives psychic income from producing foals, the average revenue (demand) curve is now perceived to be higher than the monetary revenues received by the farm owner, as it includes not only dollars paid for the product, but also “utils” derived from the psychic income of producing the product. In this case, the farm views the equilibrium quantity as QFnew, which is greater than the quantity that will be
produced if the farm pursued only monetary returns.  Operating at a higher quantity means that the farm moves down its demand (average revenue) curve, so it will sell the higher quantity at a slightly lower price (Pn) than the original price P. 

Is the farm making a profit?  The answer is Yes---and No!  If we consider monetary plus psychic income as the relevant measure of farm revenues, the answer is YES, the farm is making a normal profit.  Note that the average revenue curve that includes psychic income is above the average cost curve by the amount represented by the double arrow.  However, viewed strictly from a monetary basis, the answer is NO.  Why?  Where the farm operates on its average cost curve (directly above Qnew), the farm’s average cost curve is above the monetary revenue curve represented by “Average $ Revenue.”  Said another way, the price charged, Pn, is less than the cost of production represented by the average cost curve.

Industry Implications  

An interesting question is how (or if) the decision of this firm (and possibly similar firms) to operate at a monetary loss affects industry pricing.  One way to look at this is to look at the effects on costs for this firm.  Because this firm is willing operate at a monetary loss, it is willing to pay more for its raw materials and other inputs than the revenues that will be generated by the resulting products.  For instance, we would expect that this firm would be willing to buy broodmare prospects and pay stud fees knowing that the prices it pays are likely to result in (monetary) losses for the firm.  What are the industry implications?

If this is the only firm doing this (and by definition it is small relative to the industry since the industry is monopolistic competition) the implications will be negligible for the industry.  The slight increase in supply resulting from this firm producing at QFnew rather than QF will neglibibly increase industry supply (and negligibly lower industry price).  

But what if this firm is the norm and not the exception?  In that case, the implications are substantial.  If all firms look at the situation as does this firm, they will make decisions based on consideration of both pecuniary and psychic income.  Said another way, they view their average revenue curves as including psychic income.  Rather than just this one firm operating past the monetary break-even point, all firms will do this.  This will mean that the increased quantity offered by the industry will be high relative to a “no-psychic-income case,” and thus prices will fall.  If there are potential new entrants in the business that look at the industry the same way that this farm does, they will enter the industry as
long as a profit (albeit partly from psychic income) can be made. Industry capacity will increase until firms make a “normal” profit (including psychic income).  This will mean that at equilibrium the demand curve facing a typical firm will be at a level where the typical firm covers its costs and makes a normal (psychic plus monetary income) profit, but loses money based on accounting gains/losses.  Industry output will be higher and industry prices will be lower than if monetary income were paramount.  A corollary is that every firm in the industry will have to pay prices for broodmares and seasons that, on average, do not allow a monetary profit to be made.

Will All Segments of the Industry be Affected in this Way?

Does this reasoning apply to all segments of the industry, i.e. racing, stud farms, tack shops, farriers, etc.?
  Only those segments of the industry where the prevailing attitude is that “I earn a psychic income from this undertaking and am willing to trade off monetary income for psychic income” will be expected to in earn lower monetary returns.  This probably means that racing, with its “Wow” factor very high, should be expected to generate significant monetary losses.  The breeding business probably has enough psychic income associated with it that “buy and hold” investors are likely to earn low, possibly even negative rates of return when considering only pecuniary returns. 

What about stud farms?  What about tack shops?  What about race tracks?  The answer again relates to the degree to which owner/operators of these businesses receive psychic income from their endeavors.  I leave the reader to make his/her own judgment regarding these types of operations. 
Appendix on “Psychic Income” and “Buy and Hold” vs. Trading for Profits 
“Psychic Income” can be defined as the non-pecuniary return received from owning an asset or being involved with an activity.  People get psychic income from art, from riding, breeding, showing and racing horses, from hobbies, from helping others, and from many other undertakings.  For some assets and activities, all or most of the return is in the form of psychic income.  This is true of riding horses, volunteering your time to charities, or being an amateur photographer.  For other activities, there may be substantial portions of both psychic and pecuniary returns: Examples might be quilting, breeding horses, handicapping horse races and playing cards.

There are a substantial number of horse breeders and horse owners who are willing to breed or own horses as long as they (all of the following are possible answers, with different people having different attitudes):


A. make the T-bill rate.

B. break even.

C. lose 10% each year on their investment


B. don’t lose more than x% of their income.

If everyone in the horse breeding business were willing to just break even, this would mean that the equilibrium situation would be that this endeavor would be a zero-profit undertaking on average.  If everyone in the business were willing to lose 20% per year on his/her investment this would mean that the equilibrium situation would be that this endeavor would result in a loss of 20% on average.

Some of the characteristics of markets where psychic income is very important are quite different from normal, profit-oriented markets.  The following example illustrates one of these interesting differences:

Stamping machines vs. broodmares

A stamping machine can be used to press metal into fenders for cars.  Almost anyone considering investing in a stamping machine will want to know what rate of return (s)he can earn.  She will weigh the potential risks against the potential returns and decide upon a required rate of return.  For instance, if the investor feels that the investment has risk similar to that that the stock market entails, they might decide that they would invest in the stamping machine only if it was projected to make a return in excess of the historical return on stocks, around 10% per year if we use the last 90 or so years as our benchmark. 

Let’s turn this into a numerical example – Assume that the machine generates net cash flows of $50,000 per year for 10 years.  What is it worth?  The answer is obtained by solving for the present value of a 10-year annuity of $50,000 per year.  The value of

$307,228 is obtained by solving for the value of the following sequence:

PV = 50K/(1 + .1)1 + 50K/(1 + .1)2 + 50K/(1 + .1)3 +……+50K/(1 + .1)9 +50K/(1 + .1)10
      = $307,228.

Compare the valuation process for the stamping press to the equine equivalent of a stamping press, a broodmare that turns out foals that average bringing in net cash flows of $50,000 per year each year for the next ten years.  What is she worth?

A major difference might be that the owner of the broodmare enjoys the breeding game so much that she is willing to break even each year rather than require a positive 10% rate of return.  How does this affect the market?  The most immediate effect is that the required rate of return in the valuation formula goes from a positive 10% to zero.  Thus the market value of $500,000 is obtained by solving for the value of the following sequence, which is different from the stamping press example only in that the discount factor is 1 + 0 rather than 1 + .1.  So the formula is

 PV = 50K/(1)1 + 50K/(1)2 + 50K/(1)3 +……+50K/(1)9 +50K/(1)10
      = $500,000.

The problem for the breeder who needs to make a significant positive rate of return to justify staying in the business is that, if the market is dominated by investors willing to break even, the market price of this broodmare may be $500,000 (or thereabouts) rather than the $307,228 figure that allows an investor to make a 10% rate of return.

How to Play This Game if You Need to Make a 10% Rate of Return.

Potential Solution 1

Let’s again assume that the average investor is willing to invest in broodmares if (s)he can break even.  Based on that assumption, the broodmare that makes $50,000 per year for 10 years will typically sell for $500,000.  But, if markets are not efficient, we will find examples of overpriced and underpriced mares in the market.  Perhaps you are so good at finding bargain investments that you can find a mare that generates 50K per year for ten years at the bargain price of $307,228!  You can then hold her for ten years and achieve your target 10% rate of return.  Yes, this is possible, but isn’t it highly unlikely that you will find a mare this mispriced?

Potential Solution 2 

You find the 50K/year mare available for $400,000, she generates 50K per year and your calculations show that you make a return of 4.27% per year if you hold her for ten years.  This is much better than the zero rate of return you would have earned if you had paid $500,000 for her, but still is unsatisfactory.

Potential Solution 3 

You find the 50K/year mare available for $400,000, she generates 50K the first year, and after one year the rest of the marketplace has figured out that she is going to generate 50K per year for the remaining nine years, so you sell her for her market value (now $450,000) one year later.  You have earned $100,000 in one year on an investment of $400,000, a return of 25%.  Finally we have an outcome that is acceptable (in fact quite good) for the investor.

A tabular representation of several possibilities follows:



    Hold for
Yearly 


      Earn this

Purchase Price     __ Years
 Cash Flow
Sales Price   return

	   $400,000
	    1
	 $50,000
	$450,000
	25%

	   $400,000
	    5
	 $50,000
	$250,000
	5.82

	   $400,000
	   10
	 $50,000
	      $0
	 0%


Conclusions for markets in which the typical investor earns psychic income and therefore is willing to accept pecuniary returns that are below the rates of return for the risk class of the investment in question:

1) Returns are Low or Negative for Buy and Hold Strategies! The prices of assets in such markets will be bid up and investors who buy and hold the asset will typically make returns that are less than returns for similar investments that do not provide psychic income.

2) If markets are not efficient and underpriced assets can be found, if you buy such underpriced assets, then hold them too long, you still do poorly. 

2A)  If markets are not efficient and underpriced assets can be found, if you buy such underpriced assets and the market subsequently adjusts to pay a normal price for the asset, the original buyer of the underpriced asset can sometimes make an abnormally high rate of return. But fast turnover is key!

Questions:

1) Psychic income can be defined as

A. income obtained by outwitting buyers.


B. non-monetary income associated with the enjoyment of an undertaking.


C. the income that psychics earn.
2) At the long-run industry equilibrium, we would expect the typical firm in a monopolistic competition industry to make a(n) _______ profit that is proportional to the __________.

A. above average …. effort made by the owners of the firm.
B. average ….effort made by the owners of the firm.

C. average….. risk of the operations of the firm.

D. zero…. risk of the operations of the firm.

3) Which of the following endeavors in the Thoroughbred industry would you expect to earn the highest levels of psychic income?

      A. race-horse owners


B. breeders of foals

      C. stud farms

            D. farriers

4) If you operate in an industry that generates high psychic income to participants, a logical approach to investing in the industry is to 

A. buy bargains and hold for the long run
B. buy bargains and sell them expeditiously
C. buy randomly and hold for the long run
D. buy and sell randomly
5) Monopolistic competition is characterized by all but which of the following?


A. many buyers
B. many sellers
C. horizontal demand curves


D. a normal profit is made by the average firm.

6) Horse breeding is probably best classified as being monopolistic competition, but it differs from the textbook definition of mono comp because it is characterized by all but which of the following?      A. many buyers
   B. many sellers

 C. each individual product is unique
               D. downward sloping demand curves.

7) An industry in which the owners get psychic income normally operates with _____ prices and ___quantities of output than a similar industry that does not generate psychic income.

A. higher…higher
B. higher….lower 
C. lower….higher
D. lower….lower
8) The average revenue curve for a firm that considers psychic income as revenue will typically be __________ the average revenue curve of a firm that does not.


A. higher than 

B. no different from

C. lower than

9) If you receive no psychic income from producing in either of two industries, but in industry HH the owners receive psychic income while in industry B the owners do not receive psychic income, you are more likely to be able to make a good living working in

A. industry A

B. industry B
       C. either industry gives you the same chances 

10) If one day all the owners of an industry who previously received no psychic income from producing the industry’s products woke up and found that they now received psychic income from producing the products, we would expect that, once the industry has time to adjust, that industry output will have _______ and prices will have ________.


A. increased…increased

B. increased….decreased

C. decreased…increased

D. decreased….decreased
11) If typical race horse owners receive a psychic return equal to a 10% return on investment, and the riskiness of investing in racehorses is such that an investor in racehorses who invests solely for the monetary return would require a 10% return, then the typical investor probably earns a_________ average monetary return on investment. 


A. negative
B. zero

C. 10%

12) The historical return for the last 100 years of so for average investors in the stock market (before transactions costs) has been approximately 10%.  Would you expect the historic return from racing horses to be higher or lower?  Explain under two different sets of assumptions:

A) No psychic income is earned by race-horse owners

B) Race horse-owners earn a 20% return on investment in the form of psychic income.

13) Which of the following streams of return would be most likely under the conditions from question 11 for a racehorse purchased for $1 million?  Ignore taxes.


A. 100K profit for three years then sold for $1 million.


B. 100K profit for three years then sold for $700,000.


C. 100K profit for three years then sold for $500,000.

14) Would you expect the monetary return from owning an NBA franchise to be higher or lower than the return from the stock market?  Could it be negative? Explain.

Only QA1 and QA2 from the set of questions in red below have to be answered for this homework set.  However, part or all of the extended set of questions might appear on the final.
In the Thoroughbred industry it is probably correct to say that both the typical buyers of racing prospects and the typical breeders of racing prospects receive psychic income.  But humor your instructor and assume that originally neither buyers nor breeders received psychic income.  Please consider the following .

A) Assume that buyers of potential racehorses developed a fever a month before the Sept. Keeneland sale that caused them to receive psychic income from owning race horses.

QA1 – Were sellers originally likely to receive a normal profit?  

A. yes

B. no

QA2 – What happened to prices and to profits of sellers at the Sept. Keeneland sale following the spread of the fever?  They were likely to   

A. go up
B. fall

C. be unchanged

Show this using old and new industry supply and demand curves.

B) Assume that the fever affected all present and future buyers.

QB1 – What would happen to prices and profits at the next four Keeneland September sales?  Explain for each for the next four sales whether prices and profits would be expected to increase or decrease, when, and why?  Would the eventual equilibrium level of prices and profits be higher, lower, or would it move back to the original level?  Explain.
Now let’s start from scratch and assume that both buyers and sellers have earned psychic income for decades.  Should we expect either buyers or sellers (or both) to earn a normal (monetary) profit given that they both earn psychic income?    Is the size of the industry larger or smaller than it would be if no one earned psychic income and does psychic income for breeders magnify or offset the effects on industry size resulting from psychic income received by buyers? Explain
Pls. go to http://www.vinery.com.au/overview-more-than-ready/ (Google More Than Ready Australia if this link doesn’t work) 

What is the listed stud fee in Australia of More Than Ready?  15) $________________

At Stallionregister.com (U.S.) More Than Ready is listed at 16) $________________

Pls. go to http://www.darley.com.au/stallions/our-stallions (Google Bernardini Australia if this link doesn’t work)

What is the listed stud fee in Australia of Bernardini?   17) $________________

At Stallionregister.com (U.S.) Bernardini is listed at 18) $________________

Scroll through the stallions at http://www.darley.com.au/stallions/our-stallions (click on the middle of the ad and you’ll see that you can review all their stallions’ stud fees by repeated clicks).

19) Medaglia D’oro has a higher price in 
A. Australia 
B. the U.S. 

20) The stallion season prices at Darley Australia tend to exhibit _________ round number bias than do season prices in the U.S.    A. more    B. less
   C. about the same 

(Mostly) Psychic Income Questions  Name _______________________________
1) _____

2) _____

3) ______ 

4) _____

5) ______

6) ______

7) ______
8) ______

9) ______
10) _____
11) _____

12A)
12B)

13) _____

14) 

QA1 ______

QA2 ______

15_____
16_____

17_____

18_____

19_____

20_____
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�One of the reasons why the monopolistic competition paradigm is imperfect is that, unlike detergents or other “classic” cases of mono comp,  the products produced by each firm are not homogeneous (each foal is different).    We soldier on nonetheless on the theory that our diagrams provide a useful, though imperfect representation of reality.  Instead of representing the possible prices of a homogeneous product, we are representing the possible prices of a “representative” product.


� The “psychic income” phenomenon has implications in many other facts of life.  The median monetary incomes of writers and musicians are lower than those of engineers and finance professors in part because writers and musicians receive more psychic income from what they do than do engineers and finance professors. 





